# Algebra I <br> 12-3 <br> Quadratic Formula 

The Quadratic Formula -

Given $a x^{2}+b x+c=0$,

$$
x=\frac{-b \pm \sqrt{b^{2}-4 a c}}{2 a}
$$



$$
\begin{aligned}
& \text { Solve. Find a part b) to the nearest hundredth if necessary } \\
& \text { *1) }!x^{2}+5 x+6=0 \\
& \text { or } x^{2}+5 x+6=0 \\
& a=1 \quad b=5 \quad c=6 \\
& x=\frac{-b \pm \sqrt{b^{2}-9 a c}}{2 a} \\
& x=\frac{-(5) \pm \sqrt{5^{2}-4(1)(6)}}{2(1)} \\
& \begin{aligned}
x= & \frac{-5 \pm \sqrt{25-24}}{2}=\frac{-5 \pm \sqrt{1}}{2} \\
& \frac{-5 \pm 1}{2}=\frac{-4}{2} \text { or } \frac{-6}{2} \quad\{-2,-3\}
\end{aligned} \\
& \begin{aligned}
x= & \frac{-5 \pm \sqrt{25-24}}{2}=\frac{-5 \pm \sqrt{1}}{2} \\
& \frac{-5 \pm 1}{2}=\frac{-4}{2} \text { or } \frac{-6}{2} \quad\{-2,-3\}
\end{aligned} \\
& (x+3)(x+2)=0 \\
& x+3=0 \quad x+2=0 \\
& x=-3 \quad x=-2 \\
& \{-3,-2\}
\end{aligned}
$$

